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Herramientas Comentario

Rellenar y firmar

(d) Emissons of ane of these pallutants have been controlled by reaction with calcum ovide. dentiy
this pollutant and writ an equation fo the eaction with calcum ode:

(€) Identiy the polutants tha come primariy rom motor veices and descibethe bassfor their
production.

50 () Describe the diference in dispersion between chy acid depasitn and wet acd depositn
(b) Explin the physical and chemica processes invalved in the development of et acid depositon.

51 Identiythe free radical involved i theformation ofsufric acid and nitsic aid in acid rain and
plain how it formed.

Practice questions

1 TheK, value for a base is 5.0 x 10~ mol dm™ at 298 K. What is the K, value for its

conjugate acid at this temperature?

A 50x107 B 20x10¢

2 Which combination willform a bufer solution?

A 100 am? of 0.10 mol dn- hydrochlorc acd with 50 am? of 0.10 mol d= sodium
ydroride

B 100 cm? of .10 mol d ethancic acid with 50 ar? of 0.10 mol d sodium
ydroside

50 an? of 0.10 mol dn hydrochlorc acid with 100 cm? of 0.10 mol dm sodium
ydroride

D50 an? of 0.10 mol din ethanoic acid with 100 a? of 0.10 mol d socium
ydroride

C 20x102 D 20x10°%

3 Equal volumes and concentrations of hydrochloric acid and ethanoic acid are titrated with
sodium hydroride solutions of the same concentration. Which statement is correct?

A Theinitial pH values of both acids are equal.
B Atthe eqivalence points, the solutions of both titrtions have pH values of 7.
€ The same volume of <odium hvdroxide is needed to reach the eauivalence noint.
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48 (2) Explainwhy natural rai has a pH of around 56, Give a cherical equation ta support yaur

(b) Acid ain may be 50 times more acidic than natural rain. One of the major acids present n acid
fain originates mainy from burning coal Stte the name of the acid and gie equation to show
howit s formed.

(©) The second major acid responsibe or acid rain originates mainly fram interal combustion
engines Stte the name of tis cid and state wa different ways inwhich s production can be.
reduced.

(@) Acid ain has caused considerable damage to buikings and statues made of marble (C2C0).
Wrte an equation o represent the reacton of acid rain with marble.

(@) Statethree consequences of acid ain.

) Suggesta method of contrallng aci rain, not invalving a chemical reation or educing sulfur
dioxide emissions rom power stations.

49 The tabe ges some substances found inai

sulfur diaxide 50;
nitrogen manaxide NO

particulates -

(a) Identiy the pollutants) which contributefs) to acid ain

(b) Identiy the pollutants) which come(s) mainy from pawer sations.

(€) The presence of one of these polltanis makes the i efects of the others warse.Identiy the
pollutant and explain why it has this effect





